e il e S A 4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK

oreparmii o CKOOKaMu

Nwms: Jara: Orenka:

3 2 . _
122 —4)+4x3+ 2 = 2,9%x4+2+3(52+2,2)
2 5
L 2052049+ 2)= 3.1-3(L 44.1)=
6 ’ ’ 4 D 3 5
3 2 3 3
S+ D)x4+42= 16(2— 2)+4x4—58=
Gr3)ars 65~ 3)+4x4-58
(1+1)><4+47— 1+3(33—22)—
4 3 ’ D) J )
3 1 1 1
2 x6+3—4(4,9+ =)= - -
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3 2 »I | . _
12(2—4)+4x3+ 2 =(-)= (22— 2,9%4+2+3(52+2,2)=28
2 5 10 10

319

1 3
Zx20+5-2(4,9+ )= (—2—
6 @9+ =075

19 1 51 1
)=(—10%) 3,1—3(§ + 4, 1)—(—?)2(—105)

) 193 13 33 29 4
C i ixd4440=" 2 16(2 = 2)+4 x4—58= (=) = (=5-
(2 3)X , G T 6(5 5) x4—=58=( 5) (55)
11 1 1 1 19 4

L lyx4+447="0 =7 L 43(3.3-2.2)= — =3~
(T3)4+47=35 =73 5 T36:3-2.2)= 5 =33

3 1 269 14 1 185 I

2 643449+ )= () = (17— L 50 x5~ = (-2 = (—282

. @9+ D= (2 =C1TD)  (G-59x5— g - (2) - (28)
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